STEP TEST

LAD 2 - MAIN PROG --- Total Rungs in File = 9
~ PUSHBUTTON 1 STEPS
1:0 MOV
0000 1k Move
2 Source 0
1761-Micro 0<
Dest B3:0
0000000000000000<
STEP 1 DATA 1  STEP 1
B3:0 B3:1 B3:0
0001 == q F >
0 0 0
STEP1  STEP2  DATA2  STEP 2
B3:0 B3:0 B3:1 B3:0
0002 | -] L
0 1 1 1
 STEP3  STEP 4  STEP 3
B3:0 B3:0 B3:0 B3:1 B3:0
0003 - | = 4k (L>
1 2 3 2 2
 STEP3  STEP4  STEP5  DATA 4 - STEP 4
B3:0 B3:0 B3:0 B3:1 B3:0
0004 ] == = ] 1k >
2 3 4 3 3
 STEP4  STEP S  STEP 6  DATA 5  STEP 5
B3:0 B3:0 B3:0 B3:1 B3:0
0005 — [ = H | >
3 4 5 4 4
 STEP 6 STEP 7 - STEP 6
B3:0 B3:0 B3:0 B3:1 B3:0
0006 — [ ] = — 4k (L>
4 5 6 5 5
STEP 6  STEP 7  DATA7  STEP 7
B3:0 B3:0 B3:1 B3:0
0007 | b ———] |- >
5 6 6 6
0008 CEND >—

Page 1 Monday, November 20, 2017 - 18:46:50



